MBA607 – Financial Accounting	Assignment 3	Simon Foucher    #7107722 

148. On January 1, 20B, Walton Corporation made a basket purchase of land, a building, and furniture and fixtures. The total purchase price was $313,000. Walton also paid $3,000 for title fees and $4,000 in legal fees related to the purchase. Appraised values at the time of the purchase were: land $70,000; building, $227,500; and furniture and fixtures, $52,500.

Required:

1. Make the journal entry to record the purchase of the assets, with cost based on appraised values.

Total Appraised: ($70,000 + $227,500 + $52,500) = $350,000
Total Paid: $313,000 + $3,000 + $4,000 = $320,000
 
Book Value of Land: 		$  70,000/$350,000 * $320,000 = $  64,000
Book Value of Building: 		$227,500/$350,000 * $320,000 = $208,000
Book Value of Furniture: 		$  52,500/$350,000 * $320,000 = $  48,000

Dr. Land			$  64,000
Dr. Building			$208,000
Dr. Furniture/Fixtures	$  48,000
	Cr. Cash			$320,000


Alternatively, the appraisal value could have been recorded instead of the paid value. Scaling the additional 7k$ across asset classes would have given:

Land: 70k/350k*7k = $1,400   (+70k = $71,400)
Building: 227.5k/350*7k = $4,550 (+227.5k = $232,050)
Furniture: 52.5k/350k*7k = $1,050 (+52.5k = 53.55k)

And the following journal entries could have been made

Dr. Land			$  71,400
Dr. Building			$232,050
Dr. Furniture/Fixtures	$  53,550
	Cr. Cash			$320,000
	Cr. Retained Earnings	$  37,000






[bookmark: _GoBack]2. The building had an estimated useful life of 20 years and residual value of $30,000. Make the journal entry to record depreciation for 20B using the declining-balance method and a 150% acceleration rate.

Salvage value is ignored for declining balance depreciation.
At the end of 20B, use book value at start of 20B = Purchase price = $208,000
Straight Line depreciation rate: 100/20 = 5% 
Accelerated at 150% of 5% = 7.5%

20B depreciation expense: $208,000 * 7.5% = $15,600

Dr. Depreciation Expense			$15,600
Cr. Accumulated depreciation on building	$15,600


3. The furniture and fixtures are expected to have useful lives of 5 years and no residual value. What is the amount of depreciation on the furniture and fixtures for 20B, assuming that Walton uses the straight-line method of depreciation for such assets.

Book Value of Furniture: $48,000
Annual depreciation charge: ($48,000 - $0)/5 = $9,600

4. Based on the information in part 3, what is the book value of the furniture and fixtures at the end of 20B?

End of 20B = 1 year of use
Book Value = $48,000 – (1 x $9,600) = $38,400


5. Under IFRS, would Walton be able to use the declining-balance method for the building and the straight-line method for furniture and fixtures? Discuss briefly. 

Yes; different methods can be applied to different classes of assets such that the chosen depreciation method best match the pattern of service production of the asset.  
 


 
149. Macon Assembly Company purchased a machine on January 2, 20C, by paying cash of $85,000. The machine has an estimated useful life of five years (or the production of 200,000 units) and an estimated residual value of $5,000.

Required:

1. Determine depreciation expense (to the nearest dollar) for each year of the machine's useful life under 

(a). straight-line depreciation
Amount to depreciate: $85,000 - $5,000 = $80,000
Over 5 years: $80,000 / 5 = $16,000 per year

(b) the declining-balance method with a 200% acceleration rate.

Straight Line depreciation rate: 100%/5 = 20%
Accelerated rate: 20% * 200% = 40%

	Year
	Book Value 
@ Start of year
	Depreciation 
Expense

	20C
	 $                  85,000 
	 $              34,000 

	20D
	 $                  51,000 
	 $              20,400 

	20E
	 $                  30,600 
	 $              12,240 

	20F
	 $                  18,360 
	 $                 7,344 

	20G
	 $                  11,016 
	 $                 4,406 




2. What is the book value of the machine after three years with the declining-balance method and a 200% acceleration rate?

Book value after 3 years is book value at start of 4th year; from above table @20F
BV = $18.360


3. What is the book value of the machinery after three years with straight-line depreciation.

$85,000 – (3 x $16,000) = $37,000

4. If the machine was used to produce and sell 48,000 units in 20C, what would the depreciation expense be under the units of production method? 

(48,000 / 200,000) * ($85,000 – $5,000) = $19,200
